ioir2iai CUET 2023 &

GENERAL TEST-MATHS

SUPER FAST
REVISION

‘ BY MATHS GURU («-»)um| 07:00 PM




=) 912151 CUET 2023 £ 4

72+ 6 of 12+ 4 x (5=3) of 2

*@
’ =
72 = 6 HT 12 + thxh(sx— -

+u—2

S

~4 —2=?

— <
2+4—-2=?

B)5
C) 4
D) 6



=3 {92151 CUET 2023

A number when divided by 8 leaves remainder 7, then find the remainder

when square of the same number is divided by 8.
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If radius of a cylinder is 14 cm and its height is 8 cm then find its curved surface

area ?
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In a school there is ratio of 4 : 3 between boys and girls. If the number of girls is in
increase by 20 % their number is 3600What is the total students in school now?
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(a) 400
(b) 500
(c) 600
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The average marks of Manoj in four subject is 64 and she got 69 marks in the fifth

subject. What is the new average of marks obtained by Manoj in S subjects?
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In an exam of 300 marks a student gets 75 marks. If she had scored 6 more marks she

would have attained passing percentage. What is the passing percentage?
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A positive number is 5 times of another number. If 21 is added to both the numbers,

then one of the new numbers becomes twice the other new number. What is second the

numbers?
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Two trains, each having a length of 320 meters moving in the same direction crossed

each other in 20 seconds. If the speed of slower train is 8 m/s then find the speed in
km/hr. of the faster train ?
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_ a) 180 km/hr
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The area of square is equal to area of rectangle whose length is 5 cm more than its breath

and perimeter of rectangle is 82 cm?
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The profit percentage earned after selling an article for Rs.1560 is the same as the loss

percentage incurred after selling the article for Rs.1250. What is the

cost price of the article?
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a) Rs 1450
b) Rs 1410
c) Rs 1450
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The average of five numbers is 46. If the average of first two numbers is 42 and that of

last two numbers is 38, what is the third number from starting?

Ul GEAT T T 46 T | AT Ut 1 ST T 34 42 T 31 3ifaw S degrsit &1
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(b) 72
(¢) 75
(d) 65
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Perimeter of an equilateral triangle is 12+/3 Cm. Find its area.
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o a) 36 cm?
E‘—‘ 4 @ ~_5) 12v3 cm?
A= E—X Q,M)L ¢) 15v3 cm?

d) 30 cm’




Length of rectangle is equal to side of square and area of square 81 cm?” if

perimeter of rectangle is 26 cm then find the area of rectangle
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5% of income of A is equal to 15% of income of B and 10% of income of B is equal to
20% of income of C. If the income of C is Rs. 2000, then the total income of A, B and
C (in Rs.) is:

A T 5 Tfd9Te 311, B At 15 Ifd9Ta 31T o sRTeR § 3R B &Y 10 Ifa9rd 311 C & 20%
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6><J£ = Qx;’z*
a) 6000
b) 9000
¢) 12000
,\ d) 18000
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The printed price of an article is Rs. 900 but the retailer gets a discount of 40%. He

sells the article for Rs. 900, his gain percent is
Uk 1% ShT 3ATehd Hedl 900 F. T UId Ueh TEIT SATURT 38 UT 40%, T 2T UTH RIdT 8 | T8
TUE. 90 | T =dT g, IHRT ATH TTAvTT 2
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Find the area of the triangle whose sides are 18 cm , 24 cm and 30 cm.

18 THT, 24 HHY 3 30 THT YT AT AT RT FFEA FTd hIT |

a) 212 cm?
b) 112 cm’
¢) 196 cm?
d) 216 cm®
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Find the length of the diagonal of a rectangle whose length is 15¢cm and breadth is 8cm.

Ueh AT o frerut kY SaTe T hifsTu fSeh! e 15 9t 3R <iteE 8 9HT 2l

a) 12
b) 15
¢)18
d)17






